
８３１ ÷ １０００ ＝

８３１ ÷ １００ ＝

（うすい文字は、しっかりなぞりましょう）

８３１ ÷ １０ ＝

0 2 6 3

２  ・８３１を　　　　　　　　 にすることを、式で表しましょう。

2 6 3
２６３ ÷ １０００ ＝

２６３ ÷ １００ ＝

2 6 3

2 6 3

日にち：　　　月　　　日

名まえ

1  ・２６３を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

２６３ ÷ １０ ＝ ２６.３

⑧ 定着

８

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1



８３１ ÷ １０００ ＝ ０.８３１

８３１ ÷ １００ ＝ ８.３１

（うすい文字は、しっかりなぞりましょう）

８３１ ÷ １０ ＝ ８３.１

0 2 6 3

２  ・８３１を　　　　　　　　 にすることを、式で表しましょう。

2 6 3
２６３ ÷ １０００ ＝ ０.２６３

２６３ ÷ １００ ＝ ２.６３

2 6 3

2 6 3

日にち：　　　月　　　日

名まえ

1  ・２６３を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

２６３ ÷ １０ ＝ ２６.３

⑧ 定着 答え

８

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1


